Progress: | 70% Instructions Help

Please, make a choice between A and B for each of the decision problems below.

. Option B .
Option A . Choice
-outcome revealed in THREE
-outcome IMMEDIATELY revealed MONTHS —_—
A B

€ 21 with probability 25%
€ 18 with probability 75%

€ 54 with probability 25%
€ -9 with probability 75%

€ 21 with probability 50%
€ 18 with probability 50%

€ 54 with probability 50%
€ -9 with probability 50%

€ 21 with probability 75%
€ 18 with probability 25%

€ 54 with probability 75%
€ -9 with probability 25%

€ 21 with probability
100%
€ 18 with probability 0%

€ 54 with probability
100%
€ -9 with probability 0%
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